
 

 
        Mock Test ( Only for Practice Purpose) 

                                                            Class- 9th   

                                                                           Maths/ Mat 

1. Which of the following is an irrational number: 

A  √23.       B√225 

C √81.        C√64 

2. Volume of right circular cylinder having radius 7 cm and height 15 cm is : 

A  770cm³.       B 1155cm³ 

C 1540cm³     D2310cm³ 

3 if one card is drawn from a well shuffled deck of 52 cards the probability of drawing and ace is : 

A 1/52.      B 1/26 

C 1/13.       D 3/52 

4. The exterior angle of triangle is of 150° and one.  interior opposite angle is of 35°other two angles are 

 A 80° ,35°.       B 80°,65° 

C 35°,65°.         D 80°,100° 

Q5 the factorization of 9x²+ 6xy + y² will be : 

A (3x+y)(3x-y)   B  (3x-y)(3x-y) 

C (3x+y)(3x+y)   D none of the above mentioned 

                                                                         Science 

 

6. To convert a kelvin temperature into celsius temperature, what should be subtract from kelvin 

   temperature? 



 
  (a) 80.      (b) 212.   

(c) 273.     (d) 373.    

 7. What is the Latin name of iron element? 

  (a) ferum.         (b) cuprum    

(c) kalium.        (d) natrium 

8. The distance -time graph of a body is parallel to X-axis.It shows that : 

(a) Body is moving with non-uniform motion.  

(b) Body is moving with accelerated motion. 

(c) Body is at rest 

(d) Body is moving with uniform motion. 

9. Launching of rocket is based upon the principle of : 

   (a) Newton 's first law of motion. 

  (b) Newton 's second law of motion. 

  (c) Newton 's third law of motion. 

  (d) all of above. 

10. What is the another name of Newton metre ? 

 (a) Erg.             (b) coloumb 

 (c) joule.           (d) hertz 

                                                           Language English 

11- India is __ South Asian country.  

A. a          B /the   

C an         D x 

12-Samar might be poor, but he is _ honest man. 

A  an        B a        CThe        D x 

13-How old is Margie? 

A. 10       B  11      C  12     D   13 

 



 
14-The report must be read ……………….. so that performance can be improved. 

A carefully  B careful  C Carefulls   D NOT 

15.At the interview, Sameer answered our questions ……………….., shrugging his shoulders.  

A. Loft    B. Loftily  C Lofts    D NOT 


